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Topics . ..,
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Linear Acceleration and Speed While
Pure Rolling Down an Inclined Plane
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Rolling along an incline
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QUESTION

A solid sphere of mass 1 kg rolls on a table with linear speed 2 m/s, find its total
kinetic energy. i |
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QUESTION

A ring and a disc having the same mass roll on a horizontal surface without
slipping with the same linear velocity. If the total KE of the ring is 8 ], what is the

total KE of the disc?
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Summary
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Homework )

1) Revise all Notec

2) Solve all numericals Muluple ttmes.

3) Read text book.
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